The status of the helical
undulator field modeling
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Initial P, ; vs x/A, (Und. period change position)

Page 4 plot
1 -
N \
oF )
.« Page 5 plot
1
|mH
|w[ _ T A IS MR _
0.2 0.3 0.4 0.5 0.6 0.7 0.8
X/IA



0.7

X (mm)]

0.6
0.5
0.4
0.3
0.2

0.1

0.6

y (mm]

0.4

0.2

-0.2

04

mmooo
N 2500
2000
1500
1000
500

0

-500
-1000

-1000 -500

X = 3/8A
P = 0.47 MeV

X,

X vs 2 (rotation angle is 1.29 rad)

||lll||ll|Illlllll”lllllllllll

I U N T T T S T 0 0 0 W Y M
00 -500 0 500 1000 1500 2000 2500 3000
z [mm]

oOHATTT

y vs z (rotation angle is 1.29 rad)

lllllllllllllllllll

yav Lo L Ly s by s Laaa v Laa s v Laaa Lo

000 -500 0 500 1000 1500 2000 2500 3000
z [mm]

z vs 2 (rotation angle is 1.29 rad)

+ll|l|lllll”llllllllllllllllll”lllllllllll

1l T T U O B T B B B A B

1

500 1000 1500 2000 2500 3000
z [mm]

bx vs z (rotation angle is 1.29 rad)

15

Bx [kGaus]

0.5

-0.5

|
-

||l|||l||||l|||TI||I||||l|||l|||l|

-1.5

T TN T T T T W I N 0 B A T A A

L
offT

00 -500 0 500 1000 1500 2000 2500 3000
z [mm]

by vs z (rotation angle is 1.29 rad)

1.5

By [kGaus]

0.5

-0.5

-

=3
T[T T[T T[T T T[T

-1.5
= NI AT ATATE FIT AT AT A A INAAATE AT ATATATE A A AT A

-1000 -500 0 500 1000 1500 2000 2500 3000
z [mm]

bz vs z (rotation angle is 1.29 rad)

[}
30.015

g
~ 0.01

4]
0.005
0
-0.005
-0.01

-0.015

T T[T T[T [T [T T

= BRI B AR A M A | I A B

-1000 -500 0

00 1000 1500 2000 2500 3000
z [mm]

px [MeV]

-

py [MeV]

-

-1
-2

-1

3 1000
Wowom
999.999
99.9985
999.998
99.9975
999.997
99.9965

oww.wwm._

- 32.5 cm
T 0.5*A
N = 4 turns

px vs z (rotation angle is 1.29 rad)

TR T N N T T T W B BB T A A

o]
000 -500 0 500 1000 1500 2000 2500 3000
z [mm]

py vs z (rotation angle is 1.29 rad)

/

_/

L

TT

PR NN TS TN T S S S A AU BV A A A OO

000 -500 0 500 1000 1500 2000 2500 3000
z [mm]

pz vs z (rotation angle is 1.29 rad)

LY LN AN LERLY ALY LLARN LLRRY LY R

By Ly a b a o Laa PRI R A A

000 -500 0 500 10 1500 2000 2500




X me]
&

Illlllllllllllllllllllllllllllllll

-0.2

-0.25

-0.3

-0.35

-0.4

-0.45

-1000 -500 0 500 1000

0.

-

lll|||Illllllllllll”lllllll

0.05

0

-1000 -500 0 500 1000

3000
2500
2000
1500
1000
500
0
-500
-1000,

z (mm]

-1000 -500 0 500 1000

X = 4/8\
P = -0.78 MeV

x, 0

X vs z (rotation angle is -0.03 rad)

]
L

1500 2000 2500 3000
z [mm]

y vs z (rotation angle is -0.03 rad)

m |

T T S O N T I B A

1

1500 2000 2500 3000
z [mm]

2z vs z (rotation angle is -0.03 rad)

llllllll]”llllIHIIIIIlllllllllllllll]lll

Beeoo Lo Lo Lo Lo oo Lo g by by

1500 2000 2500 3000
z [mm]

Bx [kGaus]

By [kGaus]

bx vs z (rotation angle is -0.03 rad)

1.5

-

0.5

-0.5

-

=3
T[T T[T T[T [T T[T

-1.5

=

yav Lo L L s Ly s baaa o Lo s v baaa a1

-1000 -500 0 500 1000

1500 2000 2500 3000
z [mm]

by vs z (rotation angle is -0.03 rad)

15

0.5

0

-0.5

-1

-1.5

L0 L LN LN LN AN AR
[ R LR LR R LA

B

:

M A | P A B

TR A A A

-1000 -500 0

Bz [kGaus])

-0.002
-0.004
-0.006
-0.008

0.014
0.012

0.01
0.008
0.006
0.004
0.002

00 1000 1500 2000 2500 3000
z [mm]

bz vs z (rotation angle is -0.03 rad)

0

FEFEErEN BFETETEr SErErArE SR SrAErErE ST ErArArr S S

-1000 -500 O 500 1000 1500 2000 2500 3000
z [mm]

px [MeV]

py [MeV]

pz [MeV]

- 32.5 cm

T 0.5\
N =4 turns

px vs z (rotation angle is -0.03 rad)

2f

_H \

oF |\ \

I_”

INH

H_.______.______._____.._I____.____._l_______._
-1000 -500 0 500 1000 1500 2000 2500 3000

z [mm]
py vs z (rotation angle is -0.03 rad)

NH 4

1F

oF

-1

nmu ....... !l

o I ST N N W B B PRI TR AR N BT AT

-1000 -500 0 500 10 1500 2000 2500

pz vs z (rotation angle is -0.03 rad)

1000 -
999.9995F
999.999
999.9985 [
999.998
999.9975
Oww.wwﬂ”*l..___...___..._.._._...._..___...._._.._...

-1000 -500 O 500 1000 1500 2000 2500 3000

z [mm)




; LEM YR T TR R
.....1‘.‘..:..._,.:!:;.4!1:011!.!#\._..._,,

Opera

cossam




Initial P, , vs x/A, (Und. period change position)
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The slide is added after the group meeting (on Aug-28)




X = 27/64\
P = -0.31 MeV

x, 0

X vs 2 (rotation angle is -0.79 rad)
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